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walking a distance of
then again turned to

the right and walked 15 m. After this he is to
turn(right and to cover 30 m. In which
direc should he go?
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Q. A girl facin turnegrees) j

yClockwise then 190(degrees) anticlockwise.
What is the new direction of the girl?
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Q A man is facing north direction , he turn !
135 degree in clockwise direction , then turn

degree in anticlockwise direction, then

180 degree in anticlockwise direction in
which direction is he facing now?
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a)East
b)We
¢)North
d)South

e) None of these |
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Q.A man is facing east direction , he turn lj
degree in clockwise direction , then turn 270
degree in anticlockwise direction, in which
direction is he facing now?
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a)East

b) West
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Q. If South-West becomes

B,

North, then what will North-East

be?
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C. South
D. East
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\o. Q. A clock is so placed that at 12 noon q

| @/ 12 its minute hand points towards North-
East. In which direction does its hour

j hand point at 1:30 pm?
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Q.A person starts from a point A and q
travels 3 km Eastwards to B and then

turns left and travels thrice that distance
to reach C. He again turns left and
travels five times the distance he
covered between A and B and reaches
his destination(D.)The shortest distance
between the starting point and the
destination is?
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Q. One evening Ram and Mohan
were talking to each other face to
face. If the(shadow of Mohan was
exactly to the right of Mohan,
then which direction was Ram
facing?
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Q. At sunrise, Rohit and Mohit aﬂ
having a conversation standing in
front of each other. The shadow

of Mohit is formed towards the

right hand of Rohit. What

direction is Mohit facing?
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a) East

b) West

c) North

d) South J
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